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4th Month, 4th Week, 5th Day Revision Test (4th Week)

Q.1. Choose the correct options.   (1 x 13 = 13)  
(i) 1 km is equal to: 
(a) 10m    10 (b) 100m  100 (c) 1000m1000 (d) 10000m10000

(ii) If arrival time = 2:40 p.m and journey time = 4 hours, then departure

time is equal to:

 4  2:40 p.m 
(a) 11:40 a.m (b) 10:40 a.m (c) 09:40 a.m (d) 08:40 a.m

(iii) 25 m/s is equal to ______ km/h.  _____  25

(a) 60 (b) 70 (c) 80 (d) 90

(iv) 1m3 is equal to:

(a) 1000cm3        1000 (b) 10000cm3        10000

(c) 1000000cm3        1000000 (d) 100000cm3        100000

(v) The perimeter of a square of length 4cm is:

(a) 16cm (b) 16cm2 (c) 8cm (d) 12cm2

(vi) The surface area of cylinder with radius = 2cm and h = 10cm is:

 10  2 
(a) 100cm2 (b) 150.8cm2 (c) 150.8cm3 (d) 150cm3

(vii)Time 03:48 p.m in 24-hour clock is:  24  03:48 p.m

(a) 03:48 (b) 13:48 (c) 14:48 (d) 15:48

(viii)1mm is equal to: 
(a) 0.01cm                 0.01 (c) 0.1cm                 0.1

(c) 0.1m                            0.1 (d) 0.0001m            0.0001

(ix) If a car covers 10m in 5 sec then its speed is:

 510 
(a) 1 m/s (b) 2 m/s (c) 3 m/s (d) 11:40 a.m

(x) The area of circle with radius 3cm is:

(a) (b) (c) (d)

(xi) 14:00 in 12-hour clock is:  1214:00

(a) 01:00 a.m (b) 2:00 p.m (c) 01:00 p.m (d) 02:00 p.m

(xii) 16km = ?

(a) 0.16m (b) 16cm (c) 16000cm (d) 16000m

(xiii)The surface area of triangular prisim with  = 8cm, b = 4cm, h = 3cm:

 3  4  8 
(a) 120cm2 (b) 108cm2 (c) 96cm2 (d) 78cm2

Q.2. Answer the following questions: (4x2=8)  
(i) Umair takes 2 hours 35 minutes to complete his home work. Convert the

time into seconds.     

 35 2 
(ii)  The dimensions of a shoe box are 15cm, 30cm and 10cm. Find volume of

the shoe box.

 10  30  15 
(iii) Complete the table. 

Sr. No. km/h m/s

(i) 108

(ii) 100

(iv) Convert. 
(a) 75km 880m into m.  880  75

(b) 75cm into mm.  75

Q.3. Find the shaded and unshaded area of the given composite shape.

(1x4=4)
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